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— T2y EU(Z2) 200,000& * 53 * 104 1,000
—PC =2l 100,000& = 21CH = 20/100 420
— JIEt =2l 50,000& = 12& 600
OJIEt AR 2eldl 5,000& * 218 » 12& 1,260
202 odl 86,940 86,940 0
01 = LHA YI 86,940 86,940 0
OZAD P2 F=& ol 86,940
— 2t o4 Yl 20,000& * 21 * 12 « 128 60,480
— 220l 90,000& * 21H » 14« 26,460
203 R =AY 7,170 7,500 A 330
NBEEEEEES T 2,970 3,300 £330
OCAAERE JBSHA2E T Y|
2,970,000& » 1H 2,970
04 EAN2IL 2= 4,200 4,200 0
ORN2ILR A 350,000& = 12& 4,200
204 X2 LAY 5,400 5,400 0
01 Mg 5,400 5,400 0
OXMg = HH| 5,400
—SANHLEIF 350,000& = 19¥ » 12& 4,200
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